BRX—Ik1 (A4

TH6FIARD

SLSATERAKE (REME) KEARERBRESE (Ef)

BKEERE 9:00

KERBRBER (BRAKSE BKHF (RK) )
=] Xg | KB | KB |B E| pH [FILHY BE | ZFE |[Eth| #&% £ " *=
& BB | 11> Hy
°C °C |4 mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 = 17.7| 16.5 30.8/ 7.76
2 [55] 17.0 16.3 15.1 1.73
3 = 19.0{ 17.0] 126.0{ 7.59
4 i 17.0 16.7| 186.0| 7.64
5 i 17.0] 16.2 89.6/ 7.73| 45.0| 58.5 167 3.7| 2.35| 0.06
6 iE 18.0| 15.9 67.3| 7.64
7 i 16.5| 16.0 38.3| 7.82
8 E 11.8] 15.0 48.3| 7.84
9 i 13.0] 14.2 4.0 7.75
10 £ 14.5]  14.1 26.4) 1.73
11 = 16.8| 14.2 9.2 7.62
12 £ 15.5| 15.6 18.6| 7.66
13 i 20.0f 15.9 17.0f 7.72
14 i 16.8| 15.8 13.6| 7.85
15 [55] 16.0 15.5 10.5 7.68
16 i 18.0] 16.2 10. 1 7.74
17 i 18.0| 16.3 8.4 7.79
18 £ 18.1 17.1 4.9 7.84 54.9] 53.4 134 6.5| 0.19] <0.02
19 = 11.0 14.5 10.3] 7.89
20 [55] 1.2 12.3 14.1 7. 81
21 i 12.2]  12.1 13.9] 7.80
22 i 13.0 14.0 11.6] 7.83
23 i 12.0 13.9 17.7] 7.84
24 i 10.0 12.9 5.5| 7.84
25 g 8.5 12.3 5.6| 7.85
26 £ 13.0 12.0 5.5| 7.83
217 = 14.9]  12.1 10.3] 7.80
28 i 14.0 12.6 38.6] 7.75
29 = 9.5/ 11.5 17.8] 7.80
30 i 9.0/ 11.3 8.2| 17.76
31
Ty 14.5 | 14.5 30.8 | 7.76 | 50.0 | 56.0 151 5.1 1.27 | 0.03
4= 200 17.1| 186.0 | 7.89 | 54.9 | 58.5 167 6.5| 2.35| 0.06
=IE 7.2 | 11.3 49| 7.59| 450 | 53.4 134 3.7 0.19 | <0.02




BRX—Ik1 (A4

TH6FIARD

SLSATERKE (REME) KEARGERBRESE (Ef)

BRoKEFRE 9:00

KERRBRBER (BERAKSE BEKt (GfK) )
=] Xg | KB | KB |B E| pH [FILHY BE | ZFE |[Eth| #&% £ w =
& BB | 11> H
°C °C |4 mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 = 17.7 17.1 2.2 1.31
2 [55] 17.0 16.7 2.2 1.35
3 = 19.0 17.2 2.0 7.2
4 i 17.0 17.3 1.9 7.15
5 g 17.0 16. 2 2.5 7.40[ 39.3] 60.1 120 7.6 0.03] <0.02
6 iE 18.0 16.1 2.1 1.27
7 i 16.5 16.0 2.2 7.32
8 E 11.8 15.5 2.0 7.42
9 i 13.0 14.4 2.2 17.29
10 £ 14.5 13.8 2.0l 7.23
11 = 16.8 14.1 1.6/ 7.20
12 £ 15.5 15.5 2.0l 7.29
13 i 20.0 16.0 2.0l 7.45
14 i 16.8 16. 1 1.7]  7.51
15 [55] 16.0 16.0 2.1 7.39
16 i 18.0 16.5 1.8 7.48
17 i 18.0 16.6 1.8 7.45
18 £ 18.1 16.9 1.2 7.55| 50.4/ 70.9 138 6.6/ 0.04] <0.02
19 = 11.0 16.0 2.0l 7.59
20 [55] 1.2 13.5 1.6/ 7.50
21 i 12.2 12.9 2.3 7.46
22 i 13.0 13.6 1.7 7.53
23 i 12.0 14.0 1.3 7.61
24 i 10.0 13.6 1.5 7.70
25 i 8.5 13.1 1.9 7.68
26 £ 13.0 13.0 1.7 7.63
217 = 14.9 12.8 1.5 7.54
28 i 14.0 12.7 2.1 7.44
29 = 9.5 12.7 2.3 7.44
30 i 9.0 11.5 1.8/ 7.50
31
Ty 14.5 | 14.9 1.9 7.43| 44.9| 655 129 7.1 0.04 | <0.02
4= 20.0 | 17.3 2.5 7.70 | 50.4| 70.9 138 7.6 | 0.04 | <0.02
=IE 1.2 | 11.5 1.2 7.15| 39.3 | 60.1 120 6.6 | 0.03| <0.02




